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Math201.01. Quiz #2. Term 153

Name:

rD #: Serial #:
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1. [4 points] Find an equation for the plane containi
P(3,5,-4) Fnd the line x=4-t, y=-L+zt,
(-*, *).
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[4 points] Give the name, vertex, axis, and

equation xz + 3y' - 12y - z * L3- 0.
l_L

Z_= a-+3J--lLJ + 1j

Z = t'+3 ($-?) r: ) tti -rz
= rJ*3(b-r)'*i :j

O qrvre : c\q e.llrp )r c pctrc.l,"I ri'J I i

vetLeT: ( trA, lJ 'li'

'ft-- \,nz- paro.\"l el hr +'L". <-e{} lJ
QYr5 '' 1'- l-i^--."-L 

/<b.?.tr cr"
9,, P'assin3 

+hr"'t"61l (a1L' t1

2.

o

iqLtt)



o

0

3. [3 points] Find the limit:
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[4 points] Let z - tan-t(xz +y'), x -rlnt, y = tezr. Find

when (r, t) = (1,1).
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Math201.02, Quiz #2, Term 163

Name:

tD #: Serial#:

1. [4 points] Give the name,

theequation22-2-x2
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3. [3 points] Find the limit: . lim .x2v?-xv:z .
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